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1 Which of the following oxides of nitrogen is isoelectronic with CO,?

(1) NO,
(2) N0
(3) NO
4y N0, .

T q BT Qe @ dEaEs, CO, W wHEawR § 7

(1) NO,
@) N0
(3) NO
@ N,0,

related to -

(1) Size, shape and orientation
(2) Shape, size and orientation
(3) Size, orientation and shape
{4) None of the above

Principal, Azimuthal and Magnetic quantiim numbers are respectively

e, i ok g wawen g wu o g ¥ wabuag ¥

() omaR, 4@ o et o
(@) wRE] AR O3 | @R W
(3) R, Sfufrme o dxer A
@ ¥ Bg A

3 Which set of quantum numbers is not possible from the following ?

() n=31=2m=0,s=-12
2) n=31=2 m=-2,s8~=-1/72
(3) n=31=3m=-3s=-12
4 n=31=0m=0s=-1/2
TEH ¥ HE-T [V e wE §Wd T T 7
) n=31=2m=0s=-1/2
2) n=31=2 m=-2s=-12
3 n=31=3m=-3s5s=-1/72
4) n=31=0m=20,5=-1/2
03_A] 2
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4 With which of the given pairs, CO, resembles (shape) ?

(1) HgCi,, C,H,

(2) HgCl,, SnCi,

(3) GC,H,, NO,

(4 N,0, NO,
ﬁmﬁ@faﬁw—mﬁ:ﬂcozﬁw@ﬂ?ﬁ%}m% ?
(1) HgCl, C,H,

(2) HgCl,, SnCl,

(3) C,H,, NO,

4) N0, No,

5 Which of the following would have a permanent dipole ?

(1) BF, 2) SiF,
(3) SF, 4)  XeF,
Pt & 3 Brr & el Rrym onst @ 7

(1) BF, @) SiF,
(3) SF, (4) XeF,

6 XelF, involves hybridization -

(1) sp? (2) spid
(3) spid? (4) None of these
XeF, # wHa@yor g -
(1) sp? (2)  sp3d
(3) sp3d? @ T ¥ B T/
7 Which one of the following is the smallest in size ?
( N3 2) 07
(3) F1 (4) Na'!
T ¥ B AR wwd e dm 7
(1) N3 @ 072
(3) F! (4) Na'!
03 Al 3 - JNAEMNR [Contd...
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The increasing order of the ionic radii of the given isoelectronic species is ~
(1) Crl, ca™, K, §2

(2) $2 ¢rl cat? K

(3) Ca*2, K*l crl, §2

(@) Kt §2 Ca*? Crl

TEwEe deie @ Tedl 35 omafw B @ W dm -

(1) CIl, ca*?, K+l §2

() S2 crl cat?, Xt

(3) Ca*?, K¥! CIl, §72

(4) KXK' §2 Ca'Z Crl

The isomerism exhibited in these compounds
[Co(INH;)¢] [Cr{CN)g] and [Cr(NH;)g] [Co(CN)g] -

(1) Linkage isomerism
(2) Coordination isomerism
(3) Tonisation isomerism

(4) Polymerisation isomerism

Prer AP aweEEe Wi B @ ¥ -
[CoDH g} [CriCNY ] T TCrINH) ] [Co(CN)c]
(1) o GHEIgd

(2) SUEEHESTE  EEgEd

(3) SMFAIBIOT AHTETE

(4) aEHBLT GHEITA

The formula of complex

Potassium trichloromoncethylene platinate (II) is -

(1)  K[PH(C,H)Clq] (2) K[PtCly(CyH,)]
(3) [K(Pt) (C;H,)Cl3] (4) K[Pt(Cly) (CyHy)]
e wgw

TRREE ERam MR wWise (1) &1 g3 8 —
(1) K[Pt(C,H,)Cl5] (2) K[PtCl;(C,Hy)]
(3) [KPt) (C,HyCl] (4)  K[Pt(Cl3} (C,Hy))

03_A] - TN (Contd...
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Silicones are -

(1) Polymer compounds of silicon and carbon

(2} Polymer compounds of silicon and hydrogen

(3) Polymer compounds of silicon, carbon and oxygen
(4) Polymer compounds of silicon, carbon and hydrogen

ffvem g9 & -

() R ok o9 % agew G

2) T o smshm & sgee s

(3) fhﬁrwﬁ,iméﬁaﬂ'{mmﬁmﬂ%wﬁﬁm
@) Rifte, w7 ot R ¥ wgww e

Structure of some common polymers are given, Which one is not correctly
represented ?

(1) Teflon -{—CF2 —CFﬁ;

(2) Neoprene ~{-CH, ~C=CH-CH, - CH,,
cl

(3) Terylene {—OC—@—COOCHZ—CHZ—O—)—H
(4) Nylon 66 IL NH(CH2)6 NHCO(CHZL—CO }2

P8 YA Sgahl A W & w § ) T § a-a w wd el
T fpam o 2

M ¥ {cE, - c:lzﬁl-1

@ P {—CHZ—?=CH—CH2—CH2—h
cl

@) W 0C~<E>-COOCH, -CH, -05.
(4) A 66 —E NH(CH, ), NHCO(CH, ) -CO {IE

The plastics if are hard become soft and readily workable by addition of
certain compounds which are

(1) Catalysts (2) Telomers

(3} Plasticizers. (4)  Vulcanisers

mmméﬁ%,a%waﬂwsﬂamﬁaﬁaaﬁmwﬁ
= e A & e s 3 2

1) s@@ - (2) wid

(3) wiReameR (4) awhTEeE

03_A S TN [Coned...
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14 Maximum basicity is in -
(1) La(OH), ) Pr(CH),
(3) Gd(OH), (4) Lu(OH),
fra o frgat aftsam e ¥ 7
(1) La(OH), ) Pr(0H),
(3) Gd (OH)3 (4) Lu(OH),
15 The maximum oxidation stite exhibited by actinide ions is -
(1) +5 2y +4
(3) +7 @) +8
TFRIES oAl BT Sifueeed Slieiiber ot qyfl SR ¥ -
(1) +5 @) +4
(3) +7 (4) +8
16  Which of the following Lanthanide ions has magnetic moment
R (in BM) = 7.94 2
(1) Eu® @) Gd™
NHVVNEE3 (4 | €&
e ¥ 4 9 @ odes o Ram gEe s,
Ly (BM A) 794 % 7
(1) Eu® (2) Gd*3
3) Nd*3 (4) Ce*3
17  Which of the following is not a ‘Lewis base' ?
(1) 0(C2H5)2 @) N(CsHs)
(3) Me.B @ N,H,
T Y B-w gEg A W ¥ 7
(1) O(Csz)g | @ N{cH,)
(3) Me,B (4 NJH,
03_A] 6 IGIAN [Contd...
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18 The acidic character of oxyacid of phosphorus should be in the order -

(D) H3PO2 > H:,’PO3 > H3P0 4
(2) H3PO2 > H3PO 4> H3po3
3) H3P03 > H3P02 > H3PO 4

(4) H;PO, >H.PO, >H PO,

WW%WWHWWWWM._

() H;P0,>H,PO, >H,PO,
2 HPO,> H.PO, >H.PO )
(3) H;PO;>H,PO, > H.PO,

@ HPO, >H,PO, >H,PO,

19 Which has the least bond angle ?

(1) NH;
3) H,0
fore F =pgan)aey) < A e
(1) NH,
3) H,0

)
4)

@)
(4)

BeF2
CH,

BeF2
CH,

20 Indicate the nature of bonding in diamond -

(1) Covalent

(2) Tonic

(3) Coordinate

{4) Hydrogen

8§ Ty 1;[%‘% iRy —
(1) W

@) emafrs

(3) SUHEEdND

(4) IS

03_A] ' 7
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21 12-Crown—4 is -
oD ey
(3) % (4) None of these
12-%137-4 (12-Crown—4) ¥ -
oS e
(3) Ci} @) T ¥ W% T
22 In an aromatic compound electrons are present in 7 -electron cloud where
7 can not be -
(1) -;_: (2) 3
3 2 @ 1
e uERes difte # © ~3SREE A e dd ¥ STl 2 w0 ue
ol el —
W 5 @ 3
@) 2 @ 1
23 Which of the followings is decreasing reactivity order for an electrophilic
reagent 7
(A) Benzene, (B) Toluene, (C) Chlorobenzene, (D) Phenol
1 A)>®>@©C > (D) @ ®>0O >’ >0
(3) (D) > (C) > (B) > (A) @ O >®B)>(A)>©
P § ¥ Fruer fig soagifteioe aitvends & Wi Remeliern @1 Hew gen
% 7
(1) i, (@) =igsd, (@) T, () T
(1 (&> @ > @ > @ @ @>@ > > @
G @>®>@ > @ ®>@>>@

03_A] 8 IMAEHIM [Coned...
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Which of the following does not show Tautomerism ?

M ox=—_x=o0 2 ox_>o
O 0
(3) op: 4) %

e & ¥ S aaEmaaE 8 ot &0
1) oxX=0 @ o< >0

o g0 o <O

25 On boiling Benzene diazonium chloride with dilute sulphuric acid will form -
(1) Toluene (2) Benzoic acid
(3) Benzene (4) Phenol
IS ST e W 9] GRS ow B @ seEd 1
T O -
() g (2) I<iH o
(3) =i (4) W
26 In reaction
H,O
C, 11 MgBr +CIH,— CH, -2 A
...O/
here 'A’ is -
(1) C2H5CH2CHO (2) C2H5CH2CH20H
¢) C,H.CH,OH @ C,H,CHO
arfatepar
H,O
C,HsMgBr+CH,— CH, 25 A
A \0/
A AR -
(1) CZHSCH2CHO (2) C2H5CH2CH20H
3) C,H,CH,0H (4 C,H,CHO
03_A} 9 IBAHWE [Contd...
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27 Compound which does not react with sodium -
(y C,H,0H | (2) CH,OCH,
() CH,COOH (4) CH,CHOHCH,
T5 dfte W @REm § R T e -
(1 C,H,O0H (2) CH,OCH,
(3) CH,COOH ' (4) CH,CHOHCH,
28 The following reaction is an example of
COOH NH;
®+N3II > ©+COQ+N9
(1) Schmidt reaction (2) Hunsdiecker reaction
(3} Kolbe's synthesis (4) Hell-Volhard - Zelinsky reaction
e erfufiper oo Seeam & 7
COOH NH,
@+N3H —=0c > @*CO“N”
(1) e sifwipan (2) TESTHT aiTaeaT
(3) it EHyew (4) W dwE - e aflear
29  For which the Fehling Test is positive ?
(1) Acetaldehyde (2) Benzaldehyde
(3) Acetone (4) Alcohol
o fow Helim wlewr sew ¥ 7
() udrRhess (2) IIfveEEs
(3) THEREM (4) uwHEW
30 Alcohol shows -
(1) Reaction with HCHO {2) Leibermann's Nitroso reaction
(3) Reaction with neutral FeCl; (4) Iodoform Test
I RG] ) |
(1) HCHO & iy oiHisesn
(2) wWEEE ELE Stk
() wrim Hiw w@rEs fawaT & @y sffea
(4) OSTRNSTEM™ T
03_A} 10 HITL [Contd...

www.upscstudymaterials.com



- 33

www.upscstudymaterials.com

31 When formaldehyde is treated with ammonia “Urotropine’ forms,
the formula of which is -
(1) (CH2)6 N, @) (CH2)4 N,
3 (CHz)G Ng (4) (CHz )3 N,
ﬁ%ﬁﬁmﬁm%ﬁﬁmm‘@?ﬁtﬁ#m%ﬁww%—
(1) (CH2)6 N, @ (CH2)4 N,
3) (CHz )6 Ny 4) (CH2)3 Nj
32 Wittig reaction gives following when reacts with aldehydes -
(I) Ketone
(2) Fatty acids
(3) Olefines
(4) - Epoxides
s ufeeess & we few wer @ 3 oae ffm st 2wt -
(1) =
(2) =@ e
(3) eitferReT
(4) sulaES
When formaldehyde reacts with KOH then methyl alcohol and potassium
formate form. This reaction is known as -
" (1) Perkin reaction (2) Claisen reaction
(3) Cannizaro reaction (4) Knoevenagel reaction
PHEEES B o WA TReiETs @ i w0 Wl ¥ @ A
Qﬁﬁ'ﬁﬁfamtﬁ%ﬁmuﬁﬁzmé\%r%l%aﬁqﬁwwarﬁ%~
() ufsT erfin (2) T srfulemn
3) FHem erflpan (4) s sifufmn
03_A] 11 NG [Contd...
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34 In “Bathochromic effect” the absorption maximum in UV spectrum will
shift. Which of the following statement is correct ?

(1) Shorter wavelength (2) Intensity increases
(3) Longer wavelength (4) Intensity decreases

UV @928 § “duimie yae % i Sheass sEgiuer fereaie
S TG O s 0 s s 1 S

(1) wg avrH (2) <o Sl 3
(3) o FrRw @ qF w9 BB

35 Which of the following molecules will not show infrared spectrum ?

(1) HCl (2) CH,

¢ H @ €0, |
fr & & SF-w o) oERE Wagd WRR T8 sam P
(1) HCl (2) CH,

3) H (@) €O,

36 In the structure of the following molecule the absolute orientation of
C, and C; atom is -

ICH_}
ol —+—H
I — OI1
4 CH,
(1) 28, 3S (2) 2R, 38
(3) 28, 3R (4 2R, 3R

P oy B ST § G, 9 G, WA @ T R g ¥ -

1 CH;
2
cl — H
3
H —2 —  OH
4CHs
(1) 28, 38 @) 2R, 38
3) 28, 3R (4 2R 3R

03_A] 12 NG TContd...
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37  Erythrose and threose are -
(1) Diastereoisomers
(2) Optimers
(3) Cis-trans isomers

(4) Exist as meso forms

wlig R R ¥ -
(1) =ERefand
2) oy

(3) foo—zra wam=E
(@) tar = § sflga

38  Photochemical reaction is expressed in terms of “quantum yield ¢” which
is ratio of -

Number of molecules reacting in unit time

M Number of quanta absorbed in unit time

Number of molecules formed in unit time
2) Number of quanta absorbed in upit time

(3) Both (1) and (2)

Number of molecules reducing in unit time

* Number of quanta reducing in unit time

mmaﬂﬂwmﬁmmﬁwmaﬁ”ﬂlﬁﬂmmﬁaw%mﬁwﬁhﬁm
ST ¥, S ouT ¥ -

TR T A B s aner ervpett & ge
M Uhd 9H9 o S99 Famer 8 de

THA GG W T 9 el o T
@ TS G4 ﬁm&ﬁfﬁﬁmaﬁﬁw

@) W) T2

THT HTI A waRa g Ay stvpelt Y e
@ Tow ¥ TR B I Faer @) s

03_A) 13 TN (Contd...
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39 An example of pseudo unimolecular reaction is -
(1) Dissociation of Hydrogen Iodide
(2) Hydrolysis of methyl acetate in dilute solution
(3) Dissociation of phosphorous pentachloride
(4) Decomposition of hydrogen peroxide
T oo uwias efifear B SwE ¥ -
(1) TRIWE oTEEs & e
@) a3 Reaw ¥ AW o @ W e
(3) WEERE YeEERES B e

(4) TEISE URIES B STHES

40 The molar conductances of sodium acetate, hydrochloric acid and
sodium chloride at infinite dilution are 91 x 104, 426.16 x 10~* and
126.45x10~% S m2 mol™! respectively at 25°C, the molar conductance at
infinite dilution for acetic acid will be -

(W) 390,71 xACY-Sr? mbl!
(2) 400.71 x 10+ 8 m? mol™!
(3) 450.71 x 1074 § m? mol™!
(4) 453.71 x 104 S m? mol-!

25°C W Giftgn wdiee, sReminG o ol @fTm wiREs & oF <
@ 1R TIEY asal HEs § -

91 x 10~*, 426.16 x 10—+ &fX 126.45%x10~% § m? mol™! T QRile® 3rd &l
I TIAT YT AT Ol gl -

(1) 390.71 x 104 S m? mol-!
(2) 400,71 x 10* S m? mol!
(3) 450.71 x 10°* § m? mol!

T4 453.71x10% S m? mol!

03_A] 14 IR [Contd...
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41 When two metals are in contact, which metal in ‘Galvanic series’ undergoes
corrosion ?
(1) Higher metal (2) Lower metal
(3) Middle metal (4) None_of these
o A UGl T @ b wwh A ¥ @ 5w U e gEmer e d
<t At ot & ¥ -
(1) w= ug @) fr ug
() 7= uig @) T ¥ B &
42 Which is not a search engine ?
(1) MSN (2) Rediff
(3) Yahoo (4) Morzilla Fire Fox
e o @ B-wr ud ghem A& ¥ 2
(1) MSN (2) IRw
() 3E (4) R BRI Bl
43  Which of the following is not a hardware ?
(1) Printer 2y 1 VBL
(3) Tape (4) Assembler
Frtifted o & #-a1 ww oYU W& ¥ ¢
(1) Br=x (2) VDU
3) 2w (4) TEEEY
44 Which of the following expressions represents the ‘First law of
Thermodynamics’ ?
(1) AE=—-qg+w (2) AE=q+w
(3) AE=q-w (4 AE=—q-w
Fe & @ a-m wiewr Swmied % wem frm o i ¥ 7
(1) AE=-q+w 2y AE=q+w ‘
(3 AE=q-w (4) AE=—q-w
03_A] 15 RN [Contd...
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In which case reaction is spontanecus ?

(1) AH is positive (+ve), AS is negative (—ve)

(2) AH is negative (—ve), AS is positive (+vé) ‘

(3) Both (1) and (2)

(4) None of these

for ufifefy o @ el @Rl -

(1) AH 0w (+ve) 3, AS FONcH® (-ve) &
(2) AH FES (-ve) ¥, AS sFmEE (fve) ¥
(@) @ () W@ (2)

@ T ¥ 35 T

The eluent strength is a measure of -
(1) Solvent absorption energy

(2) Solvent adsorption energy

(3) Solvent diffusivity

{4) Solvent mixing index

T g Y ¥ -

() famrrs @ e Sei oW
(2 \/Fasivaa; 6D Siganoe @R W
(3) fams & R &

() T e gEwe @

HPLC method stands for -

(1) High Pressure Liquid Chromatography

{2) High Performance Liquid Chromatography
{3) Highly Oxidized Liquid Chromatography
(4) Both (1) and (2) above

HPLC fafyr 1 orf & -

(1) S= 3@ W §F 99 wigel

(2) v Feee ga ool afgsr

(3) = TRBRS wF TU WiEw!

(4) v < (1) w (2)

03_A] 16
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48  Which of the following statements is false about Raman spectroscopy ?
(1) CCly is used as a solvent.
(2) Hg,Cl, exhibits sharpe Raman lines.
(3) CaCl, shows Raman lines.
(4y BeCl, exhibits faint Raman lines.
O WEERd % I A @S- % o & 7
() CCl, ® T@gs o 7% S & o & )
(2) HgCl, T wF @l weiifm s § )
(3) CaCl, ™9 @d gonfar ¥
(4) BeCl, T@h ©F Y@M 3ofm ¥ 1

49 The median of following data
25, 34, 31, 23, 22, 26, 35, 28, 20 and 32 will be -
1 26 (@) 27
(3) 28 4 29
e aifmst @) fr R (irecian) & [ATAERE -
25, 34, 31, 23, 22, 26, 35, 28, 20 Ug 32
(1) 26 @) 27

(3) 28 (4) 29

50 Central atom of the following compounds has one lone pair of electrons
and three bond pairs of electrons -

(1) H,S @) AlCl

(3) NH; (4) BF;

Prerfefes e & e oI § T e gaei g wd A 9t
e[ gm ¥ -

(1) H,S @ Al
(3) NH, (4) BF,
03_A} 17 (DN [Contd...
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51 Coordination number and oxidation state of chromium in K3 [Cr (C20 A )3]

are respectively -

(1) 3 and +3 2) 3 and 0

(3) 6 and +3 4 4 and +2

mibE B K[ cr(c,0,), | # so wwdio don v stwr o
& AW AW T —

(1) 3 uF +3 (2) 3T 0

() 6 +3 @) 4w 42

52 What is the percentage of sulphur used in vulcanisation of rubber ?

(1) 03% (2) 05%
(3) 33% (4) 55%
W & GEHNBO N WS @ ykisE Wl R § -
(1) 03% (2) 05%
(3) 33% ) 5%

53 Which one of the following is fully fluorinated polymer ?

(1) Neoprene (2) Teflon

(3 5 /Thiokol -’f‘r) PO

Fe & AT g e i g agaw o7

(1) iimm[;[ (2) %.'Q‘J_("IUW

() emirR @ @ @vo)
54 H,BO; is -

(1) Monobasic acid and weak Lewis acid
{2) Monobasic acid and weak Bronsted acid
(3) Monobasic acid and strong Lewis acid
(4) Tribasic acid and weak Bronsted acid

H,BO; ¥ -

(1) & &l o gda gRa o
(2) T @l wd gHw qes ond
() T FiW Ui WaW wgEH o
¢y By wd i whes o

03Al 13 NI (Cona..

a O
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55 The correct order of hybridization of the central atom in the following
. -2 _
species - NH,, (PtCl4) ,PCl, and BCL, is -

(1) dsp?, dsp3, sp?, sp?
(2) sp3, dsp?, dsp3, sp?
(3) dsp? sp?, sp3, dsp’
(4) dsp?, sp3, sp?, dsp3
frtaaa @i (species) ¥ Fdlir wam] & oo @ @ w9 ¥

NH,, (ptc,) ", POl T BO,

(1) dsp?, dsp3, sp?, sp
(2) sp3, dsp?, dsp?, sp?
(3) dsp?, sp?, sp?, dsp?
(4) dsp?, sp?, sp?, dsp?

56 The number of unshared electrons on the carbene carbon is -

(I 1 2 2
() 3 4 4
HEM & HET H SEEEIRIG. SEAl B e B ¥ -
1y 1 @) 2
(3) 3 (4) 4

57 Ethylacetoacetate is prepared from ethyl acetate by the -
(1) Benzoin condensation
{2} Aldol condensation
(3) Claisen condensation

(4) Dieckmann condensation

i ufieioRiee, whm e ara fea Rifr @ @ o ¥ 0
(1) ST Ee

(2) TR gE

(3) TIGT du

@) Rgua g

03_Al _ 19 [N (Contd...
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58 Glycerol is a -
(1) Trihydric alcohol (2) Monohydric alcohol
(3) Primary alcohol (4) Secondary alcohol
o ¥ -
(1) zEeERes e @) ¥EEREE TepR
3) Wl uepE (4) TErSH TehreTe
59 Catalyst used in Rosenmund reduction is -
(1) Palladium / BaSO,
(2} Zn-Hg Couple
(3) LiAlH,
(4) Ni/H,
Ages aree ¥ B § @ S-w sde @ oW o & ?
(1) Yaifem / BasSO,
(2) Zn-Hg g™ (Couple)
(3) LiAlH,
(4, , Ni/H,
60 The end product in the following sequence of reaction is -
HC=CH 210’::;3::34 oA HMeX o [O]
(1) Acetic acid (2) Isopropyl alcohol
(3) Acetone | (4) Ethanol
PrRifad oigwd B % ofem S -
HC=CH 210';':0?:;34 sa MK, (O]
(1) s o= (2) omsEifEe qeET
(3) U (4) T
03_Al 20 IR LContd..
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61 The acid showing salt like character in aqueous solution is -
(1) Acetic acid {2) Benzoic acid
(3) Formic acid (4) o -aminoacetic acid
frafefas 4 fre oo & @ faee § @ow & @nm Sl g
W % ?

(1) WRke e @) <igw o
(3) witie o @ o-ude Ve e
62 By the presence of halogen atom in the ring, basic properties of
aniline is -
(1) Increased (2) Decreased
(3) Unchanged (4) Doubled
U 6 G 9 e ooy a0 suRaly @ ardm TereR -
() & 3T (2) =@ ;W
(3) emfaita @ TN

63 Among the following the weakest base is -

(1) C,H,CH,NH, (2) CH,CH,NHCH,
3) O,NCH,NH, (4) CH,NHCHO
frfifga & 9 S0 w99 gd@ ax & ?

(1) CH,CH,NH, 2) C4H,CH,NHCH,
3) O,NCH,NH, (4) CH,NH CHO

64 The reaction intermediate in the Reimer - Tiemann reaction is -
(1) Formyl anion
(2) Formyl carbocation
(3) Dichlorocarbene

(4) Dichloro methyl carbocation
Im—Epm erfufen & wemed] S @m0 -
(1) s g
(2) wmigw ®RibaA
(3) SEFT BRI
() SEF AW BEiheEH
03_A] 21 (IR (Contd...
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65 Which of the following molecules will not show IR spectrum ?

(1) H, (2) HCl
() CHy @ H0
Frefafes § ¥ S-wr o] seve @ 8 swigm 7
(1) H, (2) HCI
(3) CH, “) }126

66 The chemical shift value of a proton on § scale is 4; The value on

7 scale 15 -
(I 14 2 6
(3) 2.5 @ 4

Uh Wed ¥ vEEbe g el e § Y M W 4 %, @ ¢ e w
qF B

(1) 14 (2 6
(3) 2.5 4 4

67 ldenufy the isomerism shown by -

H3C\C/C2Hs H3C\C/C2Hs
Br<” I 1~ S Br
(1) Ionization (2) Coordination
@) Geometrical 4) Optical
Frafafea APl @m0 @@ wragaa Rl ot ¥
H3C\C _CoHs H3C\C _CoHs
B N\g 0 N e
(1) smiET (2) STHEERIE
G) <oy @) vIIiys
03.A] | 22 ARG [Contd...
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68 A compound whose atoms are superimposable on the mirror images even
though they contain asymmetric carbon atom is called -

(1) A meso compound
(2) An erythro isomer
{3) A threo isomer

{4) An eutectic compound

iRt frad aoy qior & gRifee w0 et €19 & gofr o sramia
HET UMY BT §, 9 HEAS & —

() w& HE dfe

(2) b Ral gEEd

() b R g

(4) UH TERaE (Jefaes) it

69 In Arrhenius plot, intercept is equal to -
(1) ~Eq/R @ A
3) InK (4) login A
ST awE (W) N I@vS & |iH BUN-
(D —Ea/R 2) InA

3) InXK 4y logp A

70  Half life -of a reaction is found to be inversely proportional to a cube of
its mitial concentration. The order of reaction is -

1 2 @ 5
Gy 3 @ 4

e AfeT B ol oy SuE wifee ARt $ e & YeRAruRl U
g | Sifufem & wife w1 am @ -

(1 2 ' | @ 5
® 3 @ 4
BaAl 23 [V [Contd...
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Specific conductance of 0.1 M nitric acid is 6.3 x 102 ohm™! el

71
' The molar conductance of solution is -
(1) 630 ohm! cm? mole~! (2) 315 ohm! cm? mole ! -
(3) 100 ohm™! ¢cm? mole! (4) 6300 ohm! cm? mole-!
0.1 M “isle o =t fafdte am@sar 6.3 x 1072 ohm! em! ¥, < fawmw
B AR Aewdr B -
(1) 630 ohm™! c¢m? mole™! (2) 315 ohm™! em? mole™!
(3) 100 ohm! cm? mole™! (4) 6300 ohm™! cm? mole~!
72 Corrosion is basically a -
(1) Altered reaction in presence of H,0
(2) Electrochemical phenomenon
(3) Interaction
(4) Union between light and heavy metal
LT SR IT § -
(1) @ o euRafy & Rkl afilea
(2) Tgaweafe ofeen
(3) urwies fem
(4) T Td 9 Oy b 9 g (gREe)
73  Rusting of iron is catalysed by which of the following ?
() \Ee 210,
(3} Zn (4) H*
fre & ¥ Phad mro @ ¥ S QAT @ seRw war ¥ ?
(1) Fe @ 0
() Zn (4) gt
74 ‘FORTRAN’ programming language is commonly used for -
(1) Mathematical problem solvmg
(2) Business data processing
(3) Both mathematical problem and business data processing
(4) Real times system applications
BREFE WUPH W WA W B & -
(1) 7w gmeae §
(2) e Su @@ §
(3)nﬁﬁhzrwaﬁqamﬁaarﬂ1ﬁwa=raﬁrﬁ
(4) =g SR WOl oruErn W
03_A] 24 [HNMIENN [Contd...
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75 In which reaction there will be increase in entropy ?

1
)] Na[s) + Hzo(l) - NaOH(]) +3 Hz(g)

) A.g+(aq)+Cl (a )a AgCl()

@) H, (® +-0, (g)—> HZO(I)

2+

) Cu(2a+q) +4NH, () - I:Cu (NH3 )4 ](aq)
trer fom orfafen o o & gfg & 2

1
(1) Nagy+Hy0p — NaOH +Hy

2) Ag (aq) +ClI' )—) AgCl()
1
3 H, (© +502 "~ H,0(1)

2+
2+
@ Gl TNy g [Cu [N, ) ](aq)

76 Mossbaur effect is also related with resonance fluorescence of -

(1) Beta rays {2) Alpha rays

(3) Gamma rays (4) X-rays

Agak awe T feas oe wafe @ e ¥ 7
(1) 9 et (B-rays) (2) owE e

(3) P ey @) X-Fwi (X-rays)

77 How many hyperfine lines in ESR spectrum are shown by Mn2* ?

a 3 . @ 5
3y 2 4 ¢
Mn?* &1 ESR ®Waed § fpeer sifogen Yend <R &t ¥ 7
(H 3 2) s
(3) 2 4 6
03_A] 25 [[INNA (Contd...
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78  The percentage of constituent A in a compound AB were found to be 48.32,
48.36, 48.23, 48.11 and 48.38. What is the mean deviation in it ?
(1) 0.09 @ 1.9
3) 0.9 4 9
T Al AB H srawa A 9 Tiawien 48,32, 48.36, 48.23, 48,11 T 48,38
Rl S | wed REes (Mean deviation) W WM w1 BeW 7
(1) 0.09 @ 1.9
3) 0.9 4 ©
79 There are no S-S bond in -
. -
(I S,0;
2—
@) 8,05
(3) 8,05
2—
(4) 8,07
=1 & Tped S-S w7l %7
OANG
p -
2) 8,05
—
(3) 8,05
L
4 8,07
80 Which has the lowest anion to cation size ratio ?
(1) LiF (2) NaF
3) Csl (4) CsF
Fe § @ Reed O Td W F AR @l oUW wad ¥ 7
(1) LiF (2)_ NaF
3) Csl (4) CsF
03_A) 26 ) (Coned...
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The complex ion which has no 'd' electron in the central metal atom is -

(1) [CO (N ), ]3+ @ [Fe(cn) "

3) [Cr(H20)6]3+ @ [mno,]
Frr ®re dg@ omm & el womy ¥ ¢ o W ¥ ?

 [cof), " @ [Fe(en)]”
o [edo),]” @ [uno,]"

Which of the following is not correctly matched ?
(1) Neoprene 'ECHZ —(II = CH,- CH, }n
Cl
@ Nyln 66  HINH-(CHy)s-NH-CO-(CHy), -C1, OH
' i T
(3) Terylene  HTO-CHy-CHy - C-(ad—€ 3, 01
| CH,
|
@ PMMA  fcH,- ¢ T
COOCH;
F= 9 @ @ 9 gAF (match) T ¥ ?
(1) Frd= fon, - € = CH, - CHy i
Cl
(2) @A 66  HENH-(CH,)s—NH-CO - (CH,), - C1, OH
¢ 3
G) Xoim H{O - CH, - CH,y- C—(o>-C F, on
CHy
@ dngad L CHz—(IZ—}n
COOCH;4

0341 27 (NN (Contd...

www.upscstudymaterials.com




www.upscstudymaterials.com

83  Which of the following oxides is the most acidic ?
(1) N0 @ B0,
() As)O, (4) 5Sb,0
e 4 s oifeigs orafus el & 7
1) N0, 2) B0
(3) As,Oq (4) Sb,0;
84  Allyl bromide when reacts with HBr; 1, 2 dibromide is formed because of -
(1) Inductive effect (2) Tautomerisation
(3) Hyper conjugation (4) Non-polar mechanism
ufe @ @Ee B HBr & w1 fpw &9 X 1, 2 =X 9ums 4t gwarn
¥~ TEHE BRI ¥ -
(1) WO w9E (2) TTEEaE
(3) ofa wgm= (4) aydm Feafaly
85  The nucleophilic attack on a C-C double bond generates -
(1) \/\Casooca ol i2)_ (Cahot jon
(3) Carbene (4) Free radical
C-C fgaa1 WX % 8 onwprwr 9= B & -
(1) FEhE (2) wEE SH
(3) SEE @ TR Tw
86  Acidic chlorides can be converted into ketones as the only organic product
by the use of -
(1) RMgX (2} RLi
(3) R,Cd 4) RyZn
Wﬁmmmﬁgwmmﬁmw%ﬁqﬁﬁh
fopn s wwa ¥ ?
(1) RMgX (2) RLi
3) R,Cd #) RyZn
03_A] 28 [N [Contd...
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87 The following reaction that can be affected by sodium in dry ether is
(1) Cannizaro Reaction (2) Acyloin Condensation
(3) Birch Reduction (4) Clemenson Reduction
e aiftfipan <t g $ex & WiRom g wruRa A S e 3, 9% § -
(1) FAemd el () -uftwisT da
(3) ‘= swEmE (4) wEERT ST
88 The region extending from 200 — 380 nm is called -
(1) Near UV (2) Quartz UV
(3) Both (1) and (2) (4) Visible
200 — 380 nm A & 99 FH &7 BeAT § -
(1) P UV () EEs UV
(3) ST (1) ©& (2) SF (4) 3™
890 p-cleavage of a bond with Y—H rearrangement to form a cation and
natural molecule i3 called -
(1) Mc Lafferty rearrangement  (2) Retro Diels Alder reaction
(3) MH-transfer rearrangement (4) Skeletal rearrangement
y-H gaiime % g el o o B-Reew Rwew sar o nglas
o UE FeET ¥, HEERT 5 -
(1) Y& dwd gaiiam ) 1 Fwa-ume afufrn
(3) H-wrm, gAtaE )\ TETEw AR
90 How many geometrical isomers of this compound are possible ?
CH-~
CH - CH;
1 o @ 2
B 4 4) 6
P aQifts & fram s @ege @y % 7
CH; |
CH - CHj
1 o 2 2
@ 4 4y ¢
03_A] 29 RN (Contd...
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91 Phosphorus undergoes slow combustion and glows in dark. The process
is called - :
(1) Photochemical change (2) Chemiluminescence
(3) Fluoroscence (4) Phosphorescence
BIEHITE T ST T8 S § T oY ¥ It & 159 wheur & weg ¥ -
(1) w1 TEEte 9iEes (2) P W&t
(3) wiwRa 4y wpafa
92 For a reaction E, = 0 and K=3.2 % 10* 57! at 300°K. The value of K
at 310°K would be -
1) 6.4x10% 5! (2) 3.2x10% ¢!
(3) 3.2x108 g} 4) 3.2x10% g1
foodt afufiean & 300°K WX E, = 0 T8 K=3.2x10% 571 ¥ @ K &1 WA
310°K WX B -
(1) 6.4x10% 57! (2) 3.2x10% 51
(3) 3.2x108 g1 4) 3.2x10% g
93  The oxidation potential of a hydrogen electrode at pH = 10 and P, = 1is
(1) 0.51 volt (2) 0.00 volt
(3) 1.59 volt {4y 0.059 volt
PH = 10 T py, = 1 W TEIEH gaaeis & omade fowa &m —
(1) 0.51 volt (2) 0.00 volt
(3) 1.59 volt (4) 0.059 voit
94  What is indicated when a chemical cell's voltage has dropped to zero ?
(1) The concentration of the reactant has increased.
(2) The concentration of the product has decreased.
(3) The cell reaction has reached equilibrium.
(4) The cell reaction has completely stopped.
S T et &9 # e o O iR s € & 9z st e & -
(1) Tra@ReE ® 9r<a S8 od T |
(2) SEE W g "9 ST 8 )
(3) @@ athfear aFmERn W ggw Wl ¥ |
(4) da orfhfrr qoiamr a9 wRG ¥
95 1 kB (One kB) is equal to
(1) 1000 Bit (2) 1024 Bit
(3) 10000 Bit (4) 100000 Bit
T kB AT 3 —
(1) 1000 f&=e ) 1024 e
(3) 10000 fae (4) 100000 =
03_A) 30 N RANE; [Contd...
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96 The standard entropy S° of a substance is -
(1) The entropy at 0°C and 1 atm pressure
(2) The entropy at 0 K and 1 atm pressure
(3) The entropy at 25°C and 1 atm pressure
(4) The entropy at 25 K and 1 atm pressure
e ag @ W T S° Bl ¥ ww fe
(1) T 0°C TF 1 9 woswl o 6} ¥ |
(2) T 0K T | 9g WEd IT@ W ¥ |
(3) uxM 25°C wd 1 9g wvsdg T WY ¥ |
(4) w25 K gd | 91 W 99 T ¥ |
97 For physiosorption heat of adsorption 18 generally in the range
(1) 20 - 40 xJ {2) 20 - 60 kJ
(3) 100 - 150 kJ (4) 300 - 400 kJ
qfcrer afugive & sfeiew Fom & 9@ gre B oww ¥ @ -
(1) 20 - 40 kJ (2) 20 - 60 kJ
(3) 100 - 150 kJ (4) 300 - 400 kJ
98 In this 2.87629, the number of significant figure is -
1 7 2 6
3y o “@ 5
2.87629 ¥, wids g H dEnm B -
n 7 {2), , A
3) 0 4y 5
99 Polarography is a voltametric technique where working electrode is -
(1) Platinum electrode (2) Gold electrode
{3) Glassy carbon electrode (GCE) (4) Dropping mercury electrode (DME)
QAU T Al q@E ¢ S8l B SeaEs s ¢ -
(1) <& e @) @l gdwgls
(3) W HET sWagre (GCE) (4) TNT Wl swagis (DME)
100 The Ilkovic equation is -
(1) i=607n m¥3Yopl/2c (2)  i=607n m/3Y/SpY2C
(3) i=60Tam¥*/pY2C 4 i=607nm**/oDC
ERCAIECRCLICrry) B
(1) i=607n m?3/opY2C (2) i=607n mY3HopY2¢
3) i=607nm?DY2C @ i=607Tnm¥*/SpC

03.A] 3 IREMHIK) [Contd...
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